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0. P. Code: 25068

Total Marks: 80 . Time: Three hours
L Qs compulsory

2, Sobee any threo out of the remaining from Q.2 to Q. 6.
3. Figures on the right hand side indicite marks

4. Use of stufistical tables i3 allowed,

3.1, ai A continuous random variable has P.OVE, i =kx*(1 — x’j]_. e x =

1, and f1x1 = 0, otherwise.. Find k and mesn: ' g
i g =2
ByIfA-l—1 3 O |thenprovethat A7 = 47 — 54 + 91, 5
=2 1
<) By tising Green™s thoorem evalunee  the integral over the square fotuicd by
the Hire x=d 1, 3 = 41, x4 xyJix + Pesptagdyr. - 5
d) Caleulate Karl Pearson’s coeficient of correlation Fﬁ:ﬂ]:_t.thc data. 5
[x 13 = L T ]
— _..u...._...%__ ol o .

2. a) Random sample of 900 1'.'|=ma is ‘fumdl:u hmr: B mcan of 63 3cm, Can it be
regacded a5 a sample from a IHIE‘_: papulation whose menn is 66.2 cm. and
standavd deviation Scm. at 5% level of significance? i

b} Use the La;g;mngg‘.s' mathod r-w’r'mnitjylier.s i solve the NLPT, optimize

E—ﬁ,ﬁ -+ axf mu;spteilq i 8, = 20 [
&) A veetor-ficld is given by F- --r(:n:2 +xy* )4+ Ot 4+ x J.-'}j, pmve tht . is
itrotauonal, find the m:a!ar potentinl ¥ iodys g

" 050 [fxisn Poisson *_-"-;u_'lablc quch that, pix=1) = p{x=2}.find E (x*) 6
b} Evaluate by using Shi-l:m thearem, iﬁ 3ydx + dzdy + 6vdz where ¢ is the
_ curve of the intersection of sphere 37 + ¥* 4 2z* = Bz and z=x4 4, i

) A die was thrown 132 {imes and the follgwing frequencies were chserved,
Testthe hypotliezis that e dic s unbiased, =- ; 8

|ETO
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3, P. Cade: 25068

s I-Tum] —l
B 133
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.4 ) Obtein Speannan’s cocflicient of tank correlation from Lhe given data. 6

ohlsned
Frequency [ 15

x |42 |55 [49 60 (a3 |37 [43 [49 [ig_ |20
T40_ {30 70 [20 130 |50 [72 0 |45 |25

b Use Giauss's divergence theoresm (o evaluate, ffxzt!ydz-l-jﬁldz-dx ™
2z(xy —x — y)dedy and 5 is the sucface of the cubs bovnded by x =0, x = 1,

R e B el 1 P s f

=

=

¢} Using the Kulin Tucker method solve the MLPP, Maxifmize 7 - -2, ~ 1,7 —
x3® + by + 6y subjected to ¥ b o = 22 b3 12, 1y, 200 B

4 2. =2
.5, a3 Show that the matrx A=) =5 2 i' is diagonalizable. Find the
O [EPVL A |
iran=ferming matrix and the diagonal maleix. fi

b) Repression lines are given by ay= S5 +90, 15x =8y +130, 77 = 16

Find mean for x and ¥, correlation -‘u;ufl'.‘lﬂ:hi betwoeen x and ¥, and :.r._f. &

) The smandard deviatiicnsg mlmfﬁtr&d trom twoerandom samples of sizes 9 and 13
are 199 and 1.9 can it bé regarded as 4 sample drawn from the normal
populations  with  the same  sianderd  deviations?  (Given:  Fjpgs =
354 with :;!gf = Band 12, F; - 5 = 420, with dof = 12 and 8) £

Q6. 1) rnulﬂﬂ”u'a;[f ;] | 5

‘b)) The montily selary = in Fhig orgamzation i= nonmally distributed, with mean
R, 3000 and stundard devigiion Rs 250, What shouldbe the minimum salary of
n worker in this orpanization so that the probability that he belongs o wp 5%
workers? g fi

¢ The beights of six randomly chosen sailors sce i inches: 63, 43, 68, 69,7 am]
72, Tha heights of ten randomTy selected soldiers are 61, 62, 65,60 69,69.70.71,72
aid T3, Discuss in the light that thiz data supgests thad the sabliers are on an
averrpe taller than sailor.. L B
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Q. P. Code: 13610

{luastion ne 1 s compulsory.
Artzmpt any THREE fiom question no, 2 1o A,

Trae flheslrilive diagrams whens ever reguimed,

Holve any four

Arnail Sl el ickness 15 mim s used e hll'lri;.;u]l:ln_.b:n'.-.'_c-n-a sgare plaleol sizy. 009 04
ok L8 m & inclined plana Fiving an ung-‘lt "LF|TL_..1 hatign 30 he w::gh af e *.qt;ﬁuﬁ-'
plute = 3934 M & 0 slides down tI1-:.1.1Ia1'1...1.=.' ﬂ un i -rw-:!Jucltu oEL2 ek

e
Find the denamie viscusity of theofl” = - -, & ) 5
.k L' =
£ g it o
Define i) Teeotationa] Voerlss i) Girenladion T (%
Explain the werking ]."I'I'JL'J[}]E afthc Ritedigbe -~ . o gy : {5

Water ina roscrveis A S l's al A de el Iflm abiove the w; ll-r'r [es ] in l't'acr'."l:ﬂ"' E: T‘h-: ezsEtiirs 15
are connected by o Sdm d[am-:u T izl pl]:-r '*IJU.m long: The [ue.:-;au-a; in reservoir B

15 T kPa genpe while: the fE‘*-l.'.'..I.".l'J'J_ A 5 exposed i hl|1||'|_';._|'||:|ﬁp;- Assuming the Darcy
friction facto ul"h-:: pipe fa b ﬂ I.'E and IIM":!HILLE-,EI'JII'.IEIL' ﬂ."-%::-i descimine The direciion

ol M, T =i ; g iy c “.n-

\I. - - o

Foerins Hhe *-:IJ’-:r'-'r'mg |1I¢I' E- l;r Iiuundhh I;tﬁ:cr E.memnmu T ns

= =
L= i

z':'L'i'IZIElHI.‘H:TlL.IHH |.."rh1|!.d-:..hl::d o tank -._l.'|-"|b!|'|| 115l |:|1_['E|;-|:'|_T Auids as shown Gz, Whf will bz 04
(e ﬁt}l;ctl-:i‘ri nflncrgurﬁ»uluum W farthic g .».:l‘.'JI configurilicn?

Derive the-pquation’ol velstily distribution in a cicculur pipe for Laminar Sty Mow, 12
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A v dimensionzl tlow is deseribed in Lagremeion system us
=T 1 — e and e T
Fird:

i] The equation af fluid particle in lea fizld

i1 The yebocit compaacns it Bulerian sysicm
The velocity profile within & laminar boundary daver over 2 flat plats iz given by

Whire 17 is the mican sorcam ".-'E]I.'u:i‘l'j.-"-ETlﬂ ais the boundary layer thickness.
Traterinine the i) DI‘-T."‘.-|:1.I:|:.:T'|I:|'|[ ﬂ"l-..klh_‘:‘i am:]

il I!'rigzlmn:;ntmn fh[EJ'TEEE-

- - - g
ﬁ'\-l: - F5 A &
W

Using M-5 Lqmﬁnuﬁndth:wmmn 1‘!15131I:1¢|m mmtum v'izlluc'ii_'_n'. average velorily,
discharge and éﬁ'&":'_'fif_l‘r-'ﬁ-“ Tt Thiine I"l-.l;-s;él_:i““";' T, Srala i .ﬁ."-.\.‘g.lililrllillll"i e

] =

Int & norril shuck weve gccuriog n a Heliuom { k=1.687 the densiiy dewnsmream of the
shock i thrge times that-piyihe upstream. Caleulare the eorresponding pressure ratio and

-welocity ratio, Whiztare the Mach.numbers tpstroam and downstream of the shock?

i e G i

Acreducing bendds placed in o pipe dine suckthat the dirsction of fow of water is trned

2, ﬂ'lh:_‘:-uﬁ'ifﬁl:lulilp'.ﬂ'ﬁ r'l..l_'.ﬁulﬂ' iTie plp& dimrlrlw a5 redoced Tronn (025 oo 90,15 . The valhainez

f.l'f."‘-

.
Lo

b

L)

ot the bend is QD!: m. The Bxit ot the bend is 15 em abave the inlet. The vilocity anu
pmssrm%:,ar thie EnujH:rJ thahﬁni:] are 1.5 ands and 300KMM® pauge respectively. it is desired
. d-unm.nc thl: I:Ul‘(.%ﬂ".ﬂl‘fcd by the bend om the water using Eeyoold's Trenspord
Th-:i:-rg‘m

i‘,| -_"i.lr'Tm thn:-];lp]j:u nfm}ar figure, shaw the contrel volume

i} Lizt all the 2szumptions conzidered while solving the problem
i) Dhesfermifee the required force
i) What would be rhe force of the warer on the bead?

© Thiee pipeswith details as following are connected in paralls] hotwoen two poings

.
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Q. P. Code: 13610

When the tofil discharge of 0.3 més flows thioogh he system. Ealoulase disvittian of
tischarpe and head Toss hetwee the junclion.

Pipe | Length (im) | Dismeter { i) rieiian faotas

¥
| 1500 2 ROE
3 0] Ty :
R | T o o O
_ - " o i TR TER Gl Lol
Mooa Adr flows steadily Tough a Jn:l'lg,, E‘T-!1]"'|_‘.||: n:-'IJnd Fipe nl'_:mum, K, At plane wall I

downaticam e r-zln!nmw; the '.--..-]-:Ic'Tt_'r waries with r:d s T uu:un:l]ﬂ.g o the nqLar e

Fh

I.-...' = k -:' b
Where Lo hl}lu rnmmm’n xclcrmr.} dedhe -.':,-:nhn'.' rm-g il the | FI]FIi:.'

Evaluate the atia z: ] F
e
e
o kf -!'aq; I‘*xlhﬂz‘mcl—u:l: ).t:l.-pl:]l."."'ln the pipe.
. ] - 'y
_- .ll..\.- - b % —
b &u:lh:t any % o ¥ S o

el ‘I-'l-"rl!c B shnrrnr.-t-:, nh .-h;m Eul 1&:!.11-.-

: by F I:ﬁ-d the Eppa;d ﬂ‘fﬁnund lg_t u;r.ygl:.n st a FF,»E‘IEIJ'IL af 100 k Pa absolute anu:l PR
Sher '_  TakeR= o Wy I i k=) ;S
a'hi;i'!J 'i.‘tm': a’ HWII'I nl:ltl-.',n;,gil.bl |1:hj|t:.. v:rf'*‘tlnm ng hadiics. .

= H ]

i,
oy

- 2 e
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Q?]E';._(iajc! ¢i 22665

{1 Hours) e

ME, 1} Ouestion M. ] s Compatlzoy,
2y Attemnpt any three queslions out of the remaining five yuestions,
}} Figures to the ripht indicare fisll mars.
41 Assure spitable dat whepever respizived but justity rhe Siae,

4

Tatal Mirks: 507

01, Attempl uny four L
A, What are the different types of constained :I[L:ﬁ'i]l:!ﬁ.ﬁl.?- e R
B What is the initinl ension in o belt Srive? 3
. What are the i (Terant types :*rl'ins'ran:a'.il-:ue!; 'I.:":'I:i;;_'.‘-l'.ﬁ'.? 7 3 ks
B, D the fondamental ﬂqualiun__tb;umlﬂm lglﬁ'qg iR'gré:e;‘Ejng _g:m I':|:|E‘?|'|::.|-'|f;|_:|3_ -
g AN W et e
F. Siate and cxplain bow nfgcariﬂ.g FALE o alee gt FEE ":_:: s 2
QA A flar bell is required oo ‘tmnhliuq ’:‘i L= “frorn aqmlFL*._-r m_] 3 :I'r1~|..I!'IE|.,I1'r4: mamc-b_u g L)
running &t 300 rpm. The aug!e ofenrite: |W-@kﬂ aveit] 124 of thie mms:m[:rl:.n:i: and
the coefficicnr of [nc&nu berwesn the felt almglpld[ny s Faeas 2 A3 I}c:mm:m.,, tuking
eentrifugal tmm-;:-p»:q!:u acci’nml Twidth of die Belt mﬁtﬂ Il, i g'le.-":ﬂ that the belt
thickmess b5 3.3 m), cdetrysite GETta His el | g 4 AR
11 = 107 kgm? ur.d-ﬁn:‘rr:ﬁit pirmlﬁnﬁle -.n-n:]v:mg qlh:;.s :-_+;,E 15'-.'-|__|HT|
E. Twno I'II.HJ.I'EI“‘-Q:EI ’.l.'hHu;JE ﬂhwt:- 20 andd Sl m»-.i’h-l-e nfcu: i:.'r T‘ﬂ- inm module sl 20° (1)
prt'sar.mﬂ-hl:glﬁ" ]hn;u-:ld.*u_:ﬂgm imd?ﬁﬁlwl{mh. ma;.-u]&ﬁi‘such alenigth lhat fhe ling
of coniesd on ﬂta.-r.h*'!il.dc ‘of the pilch priiit Tas hilt the Aiwimem possille [ength.
Dietarimine the adﬁ&ml"gﬁhm@: T”iwﬂhg{;m'm'lieu[mdﬂm lengrh of the line of contact,
1t Fhatker whedt rota 0z 250 rjan, find thes2lotity of point of conmet along the
: surt,»:um rrfﬁq-.,h tﬂntﬁ'af:ll{ 131k whicy :]:m:ﬁ‘m amn‘iE uo g sTRaller wheel s in contact
_.;.."-l_ . s o PO
03 i-i,' "'.F-'yh ﬁcjan;fp il n m’a‘i' skétch tl_l:.111.'-:~¢]1... ﬁthgu tor the tength of path of contect, are  {10)
i qfcehrutn:'hnﬂ cﬁmmpmn*f@l. i rwu g_nsr&:rﬂ-fah_ :
.""-‘.- L .:'\- & e -\.|. e ;
'| R 1.| |' L - 5 L "'\-
3 'xB i:lizm-.-a :he uquapmrfu; i 1;:@:&; |:-f il upen bele drive, (1)
i;lli ﬁ ,.r‘L calm vt miuﬂﬁh‘t’hdurs -:li 25 1N, rolating clockwise gl g uniform speed of 100 {10}
:_~ - I[rm. b Eived rollsr fillieer il |J:||:L end of 3 valve rod, motion described below,
g R i To raise the valwe thrdgh 50 mm during 1207 rotatiodn of the cum.
S e {  Fokeep thr.'“‘i'.rl-.-u»’i’ullj.-ﬁu"arsm through nesxt 30"
; e 1Y ‘T jower the will v ;Juu:ng nenl Bl
ey owhe T heepthe valve losed during rest of the revolution,
g 70 lhe displacemenr ofdhe valve, while l:u:ujg raised and lowered, is 1o take place with
. i 'SJ.J:M D.m ﬂi‘: li'lhp]ﬂl:h.il"llﬂl'l'_, "."C!l:llzlt_'r amnl LL.,.II:._.]E:IE_‘UUH ;I]%ramg forr e i.";.?:l'.l'..]:ll'\-'.'[f-
S 'ﬁWLﬂt.LF'II Ef$|IHLm i
'5. -\.\_ b. -, .. = . >
: x-‘r'% A unifm bufof mass ‘m’ and bength 'L* hangs from a (Hetionless hinge, 1 s releaszd  (10)
s < fram die Forzontal pasition. Find the angular velacity of the center of nmass LT, when
’; :|E iz verigal position. Solve by work eneray principle.
& { Tiirn Ohwer
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Q5 A The mechanizm of 4 Wrapping oching, as shown in t'gu;.,,, _h-rz- the fuj]nm:fg {HI]-

H\_ ClasElf:f-MlﬂlﬂlﬂuL‘ij@gr-" s '\-\.\ g .-.:.- " .-:. o --_- .\:F: - ‘ s o,

-

ditnensinn:
QU = 100 mm, AL = Ty i,
2063 ., BT = IS{I' .

The erank O:A rotates at a rmifirn speed of 100 radss, _l:md lh,.
of the bell vrank lever b

'H..' =
i} Tislantaneods Center method M e i B Sl
i) Belative Velocity metho -
i E i ek
’ ! ;
11 ;
i 'H.'bﬂ |'|| - W
£ By T L3 " 1'-?
! 13'}“}1.'!‘3' 'I.. S R '
PLTI |
200G -H-T e I|. ! # i #
| - == A0 I': ':
e il rr-- - : - - T =
I;_ riy - f.l-ll t >
I mm -#1-1—- A0 ey ——-u-.I 0 R T _'
+ S » o F 1\:-: '; e

f e ) i,
I' ("> -
. - e |
-C\. ."'_.' '-\. e " o E =

o R 4

v A liguse shows the' rnb:ﬁarngm @T‘a ru.in.q! vals )

Eoear, i-tbu;rargi: \ -:"L fﬁlng unifedtoly at - (14}

{50 min snd i) ‘pingrz at .-LJ-:- rad e Fhe poinl & dnuihe o) aajgunﬂ'*--:l in the circylr
path with Ly gg ].n.-.ﬁ”t;r *;u-:ll.'.'li its-radiys, -Ihgtl.lﬂhermn'qm o vauding iinks are: 0A = |50
min, AR S ﬁlinmi'.-.fﬁh.- -ﬁ.ﬂ iD= S0 ;] —,;-J- Fiin, Determine velocity
and acs ,l;.l:rq.u-uu‘nﬁﬁu a:n;!r: t téHhEgJFqu ]:-,D‘:rLﬁ,m taf"g!m mchhumsm

: b
‘-\-:' —n i ) - x :"\- o
Ix_ .* P -C“'-. ok
P i s e
: ol T T ; .
-? gt N L - T,
A R “4m
o .l'b.l i '_l:.'c\- .l._-\.\_ i = . _E.
_:-\:'Iﬁ-- "";_u :? =t G 549 R |I| 1
T e g oy |
.J‘"" $| h o . : |_-C\, o ﬁ'r._—r ||' |.
.l.l_s.;.' -"" 2 = H‘h. | & |-
ot L % £ iair A T \\'-.\.
7 - SEbr. By - I o
L TR k) Al B ] _,:'I
e i g L R
Bl e
s o “B. 7 ]’:raim. Lhut_l*farl‘-s nﬂn..hﬂma;m ean iice cxact straight e,
AN _‘:'n-
T - ." e = e i
ot = .'.. o -‘r N 'H- ' 'H. _-\.'\- S :
> R e T s =
i by e o n .".i,
..:. . .\l o
'y - _;\Q:_ o - - ! el
e P | e ek iy i
' R e et S,
3 Z‘-"M L L A e
r o8 L = in
L k N ~ nk
T 5
A o .
3 i T T T
5 S0l
- AT e e
B ) -

l]'l'-'.El'.'IHJ?BEEEDEFb.ﬁIﬁfﬂJEH'-":"FED]‘dI‘--’:DS

BC =200 nim, 0,0 = 200 ]Tmt,,' 'j_..}:' 4.L|U TaHL, C';D =

}dum} ol b ‘ot F'

{5

(6]
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{3 Hours) [ Tu_t:-ll Mﬂril:s ﬂSD[
M.B. (1) Question o, 1 iz compulsory, A ..' A0 L ' : t:} J."
(2} Attempt any three questions oul uf remaining five EEUI:-.E_HEHE_ < x R ey
(3) WMstrate your answer with necessary sketch w]mclcvﬂrneecﬁan Foftm x e
{4) Fieures to the riphi indicate full marks, Fus ¥ e el s “ s LT
. Attempt any FOUR of the fullowing ; 57, 2500+ 7 ¢ ey
()  Write shorl note on Honing Machine. "hﬂ “*';1 J'“'a..
(L) What are the Tewiures of & horizoneal C"QG ma@hme‘?
fc)  Explain what iz a tool dvnamumctarwﬂh a et skeir:h
() State the factors for selection of gnnd‘mgwhag:l = “
fg} Explain the steps for designing 1_-]1!: 'brqagh Ip-:;rls,_ o %
- AF A | Ff‘? e g e .
2.  {a) Explain the different g Eﬂﬁfjlh]ﬂhlﬁﬁ{ rnEthmiﬂ ¢ ey “'_- S . : e
(hy  Draw and f}.pl-.:m tl:u;-d" I.'].":rcnl, ﬁ:m:lﬂ QT.;E hi.-l LI! iR \_ i (&)
‘E-} ST 1.":.:I nia l:,#}
3 (a) {10)
(b) Explain the mhﬂmnmm bf-:hi‘p'fcn E s ()
x e
(<) (mmpaﬁﬂhaper ﬁmmm&hwﬁ, i "'__ : ."{_:_ $ ()
A T o
4. (a) Wh.-.ut ﬂrﬂhe I’I!ncll:.z‘ns l:rf t:ufgﬂfg ;I:l'uini“_tﬂ:]mn‘dlﬂ*ﬂrcnt types of culting Auid, (10}
e '. -'.'\-\.'\-. '.-..-'\-'-\.-.l-'-.""l
{h} Tn 4. ﬂl‘ﬂlpﬂbﬁ?l—ﬁ\_ﬂniﬂg'ﬂmﬂ tﬁn] tukb'?suiglciﬂ‘“ the following ohservations were ()
mﬁ‘jmﬂ LR
- L ook
b:b 1_' xGh@ﬂ;,n{: ﬁﬁhﬁ f‘[ljﬁ_ﬁ _;} = ks i
’.Hﬂuzdﬁtﬂl’mmpﬂfl%h “ﬂhE o) _;3 fuféﬁ = 1200 N
e gl conipin am‘hwﬂﬁqg ;ar&‘a-— 1600 N
.-“_'\_'_ _:"t-:.i '-\:-\'.-_ Rt _"\-\.\,_ : i,
oy 3:“,5.“ ;'.‘t:_mﬁ:”m-r‘:rﬁhmﬁ"rh l;ﬁa\m:
BiE ; Iﬂ“bhnnr plm;gauﬁlé [ui_'i”'-?-"l-n:af force along the rake fu-;.::a {iif) Mormel firce on the
g’; SR ET, ﬂﬂ-. ,f:-me, (i v'} E‘uqﬂ' mln:nt'c-f friction {y} at the chip tool interface {v) Friction angle.
f'}.:";--- = P
g -' "{:} E:ﬁpEalﬁ '[Em ]'ﬂl‘]{. |.1I"-inn111 II:I'(}QI:ES (4)
E, -‘r*' -"-1;: B -r: o
i 5, Lﬂ} “l‘{lﬂi 1.'[1': h¢lp '-'.‘lf J]Eal SL'::ll::h deseribe vertical muchining conters, {11
;' :; 13:-'@ ".‘i.’"ntr. shurfnnﬁ: :ju Cutling tool materials, {6)
e s .1;::}1 .:-ﬁ’r :nt-:. ahuﬂc nr.:uti:s an: Coordisite measuring machine. (4)

-\.':'-__
e
[
= 5
b el
- - e B
' s
Ly
W Al ey
L
e R TR TR
X [ -
v

e

.-'

S

\.
oy
.
g
i,

-'-'H.
-

"'\.
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664

27

-

Code

Pere 2 of 2
CERZIMAT G004 0 2 65 PP AT A TR

£ 2y ¢
B T B
2 ] a3 g
5 B2 -
.u..w.u.m
sgisg-
HIM.I..-.W__.._M
ﬂ.mumd:m
2 5 & ”m o
=38 353
=

{a)
k)
()
{d)




Sk ) weey e AuT] CRSEL) paT]R hapyn.

El:ll -4 o i 5"-1 ot -\:\_'\-.""".-
Em - IV £ iR

:L}I_-‘ Lmia Iayﬁﬂ R S

A& X
'».. '\. L
P M
{3 Hours) ];Tn-tsimai'kg' Elul:-r ;;... Ay
'\. ' .-"'I "' : "‘\-
N. L. 1) Quastion No. 1 s compulsory. e ; .x:_'ﬁ_r' S R e
21 Altempl any three questions from remaining five qu::-a'r@u-# O P S P T
" a = v v -
3) Figures at right indicate marks. L T Foodead i L
Fn e b s Ay ] L I
A Dreaw neat wall labeled sketches. q N TR s o D el
K -\.{.:. A i “ g o, =’ ; i L
2 : s - 5 e
I L g AT AT et b
o e T e e AR Bt S
(.1 Write note on any fuec-- e oS P e
. ' b T g e Lo,
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|, Cheestion Mo 1 is compulsary.
2. Answer any three from the remaining five quesiions,
3. Figures to the right indicata full marks,
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molve any tour:-
Dreaw: apphication eirewit of wiac-disc and sssociated waveforms.
Enlist applications of inverler?

Uy budfer, integrator and Schmitt trigger circoit.

Defing and describe lergric opernhien, power dissipation and propagation

deluy in digial circuits,

- Lraw and gxplain peneric microcontroller.,

regcribe gpeed lorgue charaeteriatics of do and ac motors.

Explain three phose inverter operntion with waveforms
Describe o detail nstrumentation  amplifier. Slatc its need and
applications.

Explain an ac to de converter supplying resistive load, Denive equation for
caleulating de voltage.

Explain procedure Lo scleet a motor for an application and describe wilh
the speed torque characteristics.

Explain in detail low pass active filter

Explain need of digital to analogue conversion, How the ADC in MSP430
works?

Compare analogue and digital circuits, Enlist some of therr.

Describe closed loop speed contrel of DC motor.

Diraw and explain architecmre MSP 430 microcontroller?

What iz MOSFET? Explam its working. What are similarities between
MOSEET and IGBT? |

Explain 1C 555 timer s Monostable Multivibrator,

Explain wilh circuit diagram any fofoed commutation method of SCR.

Compare microprocessor and microconireller,
Explain Demultiplexer and Decoder.,
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